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REVIEW GRAPHING TRIGONOMETRIC FUNCTIONS
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5. y=5c0os8+5 6. y=4sec(8§]
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7. y—25in(%9—§—] 8. y=3cos(20-r7)+2

9. y=csc(29—2—3{] 10. y=—5sec3f+4
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11. What are the domain restrictions for tangent graphs?

12. What are the domain restrictions for cotangent graphs? (3. MA"'E'JNL'&' va_ﬁ”_ﬂ.s

13. What do the asymptotes on the graph represent?
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14. Which of these graphs have a period of 107 ? QQ.\W(OJW- B - S 5 S
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15. What is the amplitude and period of the graph y =-5 sm; o
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16. If you are given a graph how would you find the amplitude mea s ohshm( 2 ?.(M g,o..d-/
17. How do you find the max and min values for y = Pcos(M&+ E)+ R ? MY /n i N J'°.
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